

#### Davies Office Inc.

40 Loudonville Road Albany, NY 12204

V: 518.449.2040 F: 518.449.4036

www.daviesoffice.com

_	DDODOCAL	<b>PROPOSAL #:</b> 2106-040847SF REV2	JOB #:	
C	PROPOSAL	<b>DATE</b> : 8/31/2021	P.O. #:	
S	BILL TO: ALBANY COUNTY 112 STATE ST SECOND FLOOR ALBANY, NY 12207	SHIP TO: ALBANY COUNTY NURSING HOME TOWER 100 HERITAGE LANE 5TH FLOOR ALBANY, NY 12207		
CONTACT: MIKE MARTIN PHONE: (518)-447-7032 EMAIL: Michael.Martin@albanycountyny.gov  ON SITE CONTACT: DAVID LATINA PHONE: 518-447-7210 EMAIL: David.Latina@albanycountyny.gov				

#### **NOTES:**

**SCOPE OF PROJECT:** DAVIES TO SUPPLY, DELIVER AND INSTALL (31) NEW ALLSTEEL STATIONS, (6) PRIVATE OFFICES, (16) 30X72 MOBILE TRAINING TABLES, (1) 54X144 CONFERENCE TABLE. INCLUDES ALL SEATING.

LABOR: ALL LABOR MUST TAKE PLACE MONDAY - FRIDAY DURING REGULAR BUSINESS HOURS. LABOR CHARGES ARE 16% OF THE TOTAL PRODUCT NET PRICE, AS AGREED TO IN THE NEW YORK STATE CONTRACT.

DELIVERY DATE REQUESTED/ DISCUSSED: ALLSTEEL'S STANDARD LEAD TIME IS 8-12 WEEKS FROM ORDER PLACEMENT.

#### **FINISHES: ALLSTEEL FINISHES PER ATTACHED SMART QUOTE**

PANEL FABRIC: LANDSCAPE UMBER (.LN25)

WORK SURFACE LAMINATE: CAMELSTONE (.LT6A)

COLOR: BROWNSTONE (.EY)

RELATE TASK SEATING UPHOLSTERY: CONTOURETT BLACK (UR10) RELATE SIDE SEATING UPHOLSTERY: CENTURION BLACK (CU10)

PAINT-TRIM: BROWNSTONE (.PD7)
PAINT-PEDESTALS: BROWNSTONE (.PD7)
PAINT-SUPPORTS: BROWNSTONE (.PD7)

STACKER FRAME PAINT: MATTE BLACK (.P27)

PEDESTAL PULL: MATTE SILVER (.EL)

Item	Mfg	Class	Qty.	Part No.	Product Description	List	Net	Net Extension
						1		
	MAK	E PURC	HASE	ORDER OUT TO:	ALLSTEEL C/O DAVIES OFFICE 2210 SECOND AVE			

#### **ALLSTEEL PRODUCT**

MUSCATINE, IA 52761

ALS NEW 1 DAVIES TO PROVIDE FURNITURE LISTED ON ATTACHED SMART QUOTE PDF.

\$342,580.00 \$113,668.12 \$ 113,668.12

(INDIVIDUAL PRODUCT PRICING, INCLUDING PRODUCT DESCRIPTION, LIST AND NET PRICE, AND OVERALL DISCOUNT CAN BE FOUND ON ATTACHED SMARTQUOTE PDF PROVIDED BY ALLSTEEL SYNERGY PER NYS CONTRACT PC68279.

**DAVIES SELL PRICE** 

\$ 113,668.12

MANUFACTURER'S TOTAL LIST PRICE

\$ 342,580.00

# DAVIES LABOR

INSIDE DELIVERY AND INSTALLATION OF (18) 6'X7.5' ALLSTEEL WORKSTATIONS, (13) 24X72 ALLSTEEL WORKSTATIONS, (6) PRIVATE OFFICES, TRAINING AND CONFERENCE TABLES, AND (94) CHAIRS. LABOR CHARGES ARE 16% OF THE TOTAL PRODUCT NET PRICE, AS AGREED TO IN THE NEW YORK STATE CONTRACT.

TOTAL DAVIES LABOR \$ 18,186.90

\$18,186.90 \$

PROJECT SUMMARY

TOTAL DAVIES SELL \$ 113,668.12 TOTAL DAVIES LABOR \$ 18,186.90

TOTAL PROJECT COST- DELIVERED AND INSTALLED

\$131,855.02

18,186.90

(EXCLUDING SALES TAX)

#### **TERMS AND CONDITIONS - UNLESS OTHERWISE NOTED:**

DEL/INSTALL

DAV

LAB

- LEAD TIME FOR REMANUFACTURED PRODUCT IS TYPICALLY 4-8 WEEKS FROM TIME OF ORDER ENTRY.
- NEW PRODUCTS, WOOD OR NON STANDARD / CUSTOM ITEMS MAY REQUIRE LONGER LEAD TIMES.
- ALL REMANUFACTURED, AS-IS OR BLENDED OFFERINGS ARE SUBJECT TO AVAILABILITY AT TIME OF ORDER ENTRY.
- ${\sf CANCELLED} \ or \ {\sf REVISED} \ {\sf ORDERS} \ {\sf AFTER} \ {\sf START} \ {\sf OF} \ {\sf PRODUCTION} \ {\sf MAY} \ {\sf BE} \ {\sf SUBJECT} \ {\sf TO} \ {\sf RESTOCKING} \ {\sf OR} \ {\sf CANCELLATION} \ {\sf FEES}.$
- DELIVERY AND INSTALLATION IS TO BE NON UNION LABOR DURING NORMAL BUSINESS HOURS W/ NORMAL, UNENCUMBERED BUILDING ACCESS.
- WITH NORMAL UNENCUMBERED BUILDING ACCESS WE PRESUME THAT ELEVATORS ARE FUNCTIONING, (STAIR CARRIES ARE ADDITIONAL) POWER IS FUNCTIONING, LOADING / UNLOADING AREAS ARE FREE AND CLEAR (Unobstructed) FOR DAVIES TRUCKS AND PERSONNEL, AND THAT AREAS DESIGNATED TO RECEIVE FURNITURE ARE FINISHED, FREE AND CLEAR OF OTHER TRADES AND READY TO RECEIVE FURNITURE AS PER THE AGREED UPON SCHEDULE.
- COSTS FOR DELAYS OR DAMAGE CREATED BY OTHER TRADES OR EXTENUATING CIRCUMSTANCES BEYOND DAVIES CONTROL WILL BE ADDED.
- COSTS FOR ELEVATOR OPERATORS, SECURITY OR POLICE DETAILS WHILE LOADING OR UNLOADING ARE ADDITIONAL AND NOT INCLUDED ABOVE.
- IF SPECIAL CONDITIONS, UNION TRADES AND / OR OVERTIME IS REQUIRED, PRICING WILL BE QUOTED AND ADJUSTED ACCORDINGLY.
- DELIVERY AND INSTALLATION COSTS ARE FOR ESTIMATE PURPOSES ONLY AND WILL BE BILLED ACCORDING TO ACTUAL TIME REQUIRED.
- PAYMENT TERMS: 50% DEPOSIT AND / OR APPROVED PURCHASE ORDER REQUIRED TO PROCESS ORDER, BALANCE DUE UPON COMPLETION.
- DEPOSIT AND SIGNED PROPOSAL WITH ALL FINAL FINISH AND DESIGN SELECTIONS ARE REQUIRED FOR SCHEDULING OF PROJECT.
- SALES TAX NOT INCLUDED IN TOTAL. UNLESS SPECIFICALLY NOTED.

<b>Proposed by:</b> Stephanie Fuchs; Interior Designer; 518-449-2040 x 222; step	ohaniefuchs@davie	soffice.com	
Accepted by:	Date:	Aud:	

Quote Name: 2106-040847SF REV1 **Created By:** 

Stephanie Fuchs

**Comments:** 

007

13

**Quote Number:** SQCWC000345-1 **Created Date:** 

8/17/2021 Last Modified Date: 8/18/2021

**Total Units:** 677

**Customer / Contact Information Shipping Information** 

stomer / C	Contact Information	Shipping Information			
"	0. 7				
Line #	Qty Tags	Item	C II D :	44.70	Tota
001	8	CCB12L.P7D	Sell Price	\$14.79	\$118.32
		CANTILEVER 12D LH CONCENSYS	Discount	71.00%	4
			List Price	\$51.00	\$408.00
	PAINT:	P1 Paint Opts			
	PAINT_Selection:	Brownstone			
Line #	Qty Tags	Item			Tota
002	10	CCB12R.P7D	Sell Price	\$14.79	\$147.90
002	10	CANTILEVER 12D RH CONCENSYS	Discount	71.00%	<b>Ψ</b> 147.50
		CANTILL VER 12D KIT CONCENSTS	List Price	\$51.00	\$510.00
	DAINT	P1 Paint Onto	LISTITICC	<b>γ31.00</b>	7510.00
	PAINT:	P1 Paint Opts			
	PAINT_Selection:	Brownstone			
Line #	Qty Tags	Item			Tota
003	28	CCB24L.P7D	Sell Price	\$17.40	\$487.20
		CANTILEVER BKT 24D LH CONCENSYS	Discount	71.00%	
			List Price	\$60.00	\$1,680.0
	PAINT:	P1 Paint Opts			
	PAINT_Selection:	Brownstone			
Line #	Qty Tags	Item			Tota
004	26	CCB24R.P7D	Sell Price	\$17.40	\$452.40
00.	20	CANTILEVER BKT 24D RH CONCENSYS	Discount	71.00%	Ų 1321 II
		SANTIELVEN BRI E IB INI CONCENSIO	List Price	\$60.00	\$1,560.00
	PAINT:	P1 Paint Onts	List i rice	Ç00.00	71,500.0
	PAINT_Selection:	P1 Paint Opts Brownstone			
	FAINT_SEIECTION.	biowiistone			
Line #	Qty Tags	Item			Tota
005	22	CDG.P7D	Sell Price	\$35.96	\$791.1
		GUSSETS (1 PR)	Discount	71.00%	
			List Price	\$124.00	\$2,728.00
	PAINT:	P1 Paint Opts			
	PAINT_Selection:	Brownstone			
Line #	Qty Tags	Item			Tota
006	28	CEP1129F.P7D	Sell Price	\$51.62	\$1,445.36
		FREESTANDING 11DX29-1/2H END PNL SUP	Discount	71.00%	
			List Price	\$178.00	\$4,984.00
	PAINT:	P1 Paint Opts			
	PAINT_Selection:	Brownstone			
Line #	Qty Tags	Item	6 11 5 1	455.00	Tota

Quote SQCWC000345\_1 Print Date: 8/18/2021 Page 1 of 7

FREESTANDING 24DX29-1/2H END PNL SUP

Sell Price

Discount

List Price

\$55.68

71.00% \$192.00 \$723.84

\$2,496.00

CEP2429F.P7D

PAINT:	P1 Paint Opts
PAINT_Selection:	Brownstone

Line #	Qty	Tags	Item			Total
008	12		CEP3029F.P7D	Sell Price	\$61.48	\$737.76
			FREESTANDING 30DX29-1/2H END PNL SUP	Discount	71.00%	
				List Price	\$212.00	\$2,544.00
		PAINT:	P1 Paint Opts			
		PAINT_Selection:	Brownstone			

Line #	Qty Tags	Item			Total
009	18	T52442S.LT6A.EY.P	Sell Price	\$109.04	\$1,962.72
		PRIMARY 24DX42W FLAT EG LAM W/GROMMETS	Discount	71.00%	
			List Price	\$376.00	\$6,768.00
	LAMINATE:	L1 Core Lam Opts			
	LAMINATE_Selection:	Lam: Camelstone			
	EDGE:	Edg: Brownstone			
	GROMMET:	Plastic Grommet			

Line	# Qty Ta	gs	Item			Total
010	0 19		T52448S.LT6A.EY.P	Sell Price	\$118.32	\$2,248.08
			PRIMARY 24DX48W FLAT EG LAM W/GROMMETS	Discount	71.00%	
				List Price	\$408.00	\$7,752.00
		LAMINATE:	L1 Core Lam Opts			
	LAMI	INATE_Selection:	CamelstoneDeEmp6/30/21			
		EDGE:	Edg: Brownstone			
		GROMMET:	Plastic Grommet			

Line #	Qty	Tags	Item			Total
011	10		T5722EL.LT6A.EY.P	Sell Price	\$265.06	\$2,650.60
			CORNER COVE 72X48-24L/24R EXTD LH FLAT W/GROMS	Discount	71.00%	
				List Price	\$914.00	\$9,140.00
		LAMINATE:	L1 Core Lam Opts			
	L	AMINATE_Selection:	Lam: Camelstone			
		EDGE:	Edg: Brownstone			
		GROMMET:	Plastic Grommet			

Line #	Qty Tags	Item			Total
012	11	T5722ER.LT6A.EY.P	Sell Price	\$265.06	\$2,915.66
		CORNER COVE 48X72-24L/24R EXTD RH FLAT W/GROM	Discount	71.00%	
			List Price	\$914.00	\$10,054.00
	LAMINATE:	L1 Core Lam Opts			
	LAMINATE_Selection:	Lam: Camelstone			
	EDGE:	Edg: Brownstone			
	GROMMET:	Plastic Grommet			

Line #	Qty Tags	Item			Total
013	6	T53072S.LT6A.EY.P	Sell Price	\$185.89	\$1,115.34
		PRIMARY 30DX72W FLAT EG LAM W/GROMMETS	Discount	71.00%	
			List Price	\$641.00	\$3,846.00
	LAMINATE:	L1 Core Lam Opts			
	LAMINATE_Selection:	Lam: Camelstone			
	EDGE:	Edg: Brownstone			
	GROMMET:	Plastic Grommet			

Line #	Qty	Tags	Item			Total
014	82		RL-MHW.2.0.L.CBKLKM01.UR10	Sell Price	\$554.97	\$45,507.54
			RELATE STD MESH HIGH-BK/ADJ ARMS	Discount	61.00%	
				List Price	\$1,423.00	\$116,686.00
		CYLINDER:	Standard cylinder			
		CASTER:	Hard Casters			
		LUMBAR:	Lumbar			
		FRAME:	CharblackCLR: Carbon			
		FABRIC:	GRD 1 UPH			
		FABRIC_Selection:	FAB: ContourettFab: Black			
Line #	Qty	Tags	Item			Total
015	12		RLM-MUCO.3.CBKLKM01.CU10	Sell Price	\$289.38	\$3,472.56
			RELATE SIDE STD MESH BACK/UPH	Discount	61.00%	
			SEAT/CASTERS/ARMS			
				List Price	\$742.00	\$8,904.00
		CASTER:	Multi-surface Caster			
		FRAME:	CharblackCLR: Carbon			

	Line #	Qty	Tags	Item				Total
	016	36		801069P.LN25.P7D		Sell Price	\$28.13	\$1,012.68
				STRAIGHT CONN KIT 69H LOW	V PROFILE PAINTED	Discount	71.00%	
						List Price	\$97.00	\$3,492.00
			FABRIC:	Grd A FAB				
			FABRIC_Selection:	FAB: LandscapeUmber				
			PAINT:	P1 Paint Opts				
L			PAINT_Selection:	CLR: Brownstone				

**FABRIC:** GRD 1 UPH FABRIC\_Selection: Fab: Centurion--Black

	Line #	Qty	Tags	Item				Total
ſ	017	9		801169P.LN25.P7D		Sell Price	\$47.85	\$430.65
				ELL CONN KIT 69H	LOW PROFILE PAINTED	Discount	71.00%	
						List Price	\$165.00	\$1,485.00
			FABRIC:	Grd A FAB				
			FABRIC_Selection:	FAB: LandscapeUm	ber			
			PAINT:	P1 Paint Opts				
			PAINT_Selection:	CLR: Brownstone				

Line #	Qty Tags	Item			Total
018	9	801269P.LN25.P7D	Sell Price	\$76.56	\$689.04
		TEE CONN KIT 69H LOW PROFILE PAINTED	Discount	71.00%	
			List Price	\$264.00	\$2,376.00
	FABRIC	Grd A FAB			
	FABRIC_Selection:	FAB: LandscapeUmber			
	PAINT:	P1 Paint Opts			
	PAINT_Selection:	CLR: Brownstone			

		Total
Sell Price	\$28.13	\$759.51
IC 69H LOW PROFILE Discount	71.00%	
List Price	\$97.00	\$2,619.00
R	RIC 69H LOW PROFILE Discount	RIC 69H LOW PROFILE Discount 71.00%

Quote SQCWC000345\_1 Print Date: 8/18/2021 Page 3 of 7

FABRIC: Grd A FAB

**FABRIC\_Selection:** FAB: Landscape--Umber

PAINT: P1 Paint Opts
PAINT\_Selection: CLR: Brownstone

Line	e# Qty	Tags	Item			Total
0	20 36		895636P.LN25.P7D	Sell Price	\$190.24	\$6,848.64
			ACOUSTICAL PANEL 56H X 36W LOW PROFILE	Discount	71.00%	
			PAINTED			
				List Price	\$656.00	\$23,616.00
		FABRIC:	Grd A FAB			
		FABRIC_Selection:	FAB: LandscapeUmber			
		PAINT:	P1 Paint Opts			
		PAINT_Selection:	CLR: Brownstone			

Line #	Qty	Tags	Item			Total
021	18		896942P.LN25.P7D	Sell Price	\$230.26	\$4,144.68
			ACOUSTICAL PANEL 69H X 42W LOW PROFILE PAINTED	Discount	71.00%	
				List Price	\$794.00	\$14,292.00
		FABRIC:	Grd A FAB			
		FABRIC_Selection:	FAB: LandscapeUmber			
		PAINT:	P1 Paint Opts			
		PAINT_Selection:	CLR: Brownstone			

Line #	Qty	Tags	Item				Total
022	18		896948P.LN25.P7D		Sell Price	\$244.47	\$4,400.46
			ACOUSTICAL PANEL 69H X 48W LOW F PAINTED	PROFILE	Discount	71.00%	
					List Price	\$843.00	\$15,174.00
		FABRIC:	Grd A FAB				
		FABRIC_Selection:	FAB: LandscapeUmber				
		PAINT:	P1 Paint Opts				
		PAINT_Selection:	CLR: Brownstone				

Lir	ne#	Qty	Tags	Item			Total
	023	36		891336SG.P27	Sell Price	\$192.56	\$6,932.16
				STACKING GLASS PANEL 13H X 36W	Discount	71.00%	
					List Price	\$664.00	\$23,904.00
			PAINT:	P1 Paint Opts			
			PAINT_Selection:	TRIM: Matte Black			

	Line #	Qty Tags	Item			Total
ſ	024	1	AMPTLF54144RE.FSC.LT6A.EY.C0	Sell Price	\$722.52	\$722.52
			STRUCTURE 54 X 144 RECTANGLE TOP LAMINATE -	Discount	64.00%	
			SQUARE EDGE			
				List Price	\$2,007.00	\$2,007.00
		WOOD:	FSC Mix Credit			
		LAMINATE:	L1 Core Lam Opts			
		LAMINATE_Selection:	Lam: Camelstone			
		EDGE:	Edg: Brownstone			
		CUTOUT:	No Cutout			

Line #	Qty Tags	Item			Total
025	16	AW3LF3072T.FSC.LT6A.EY.AGO	Sell Price	\$209.88	\$3,358.08

 Quote SQCWC000345\_1
 Print Date: 8/18/2021
 Page 4 of 7

		30DX72W AWARE TOP LAM FLATEDG FOR T-FIXED OR	Discount	64.00%	
		NEST			
			List Price	\$583.00	\$9,328.00
	WOOD	: FSC Mix Credit			
	LAMINATE	: L1 Core Lam Opts			
	LAMINATE_Selection	: Lam: Camelstone			
	EDGE	: Edg: Brownstone			
	GROMMET	: No Cutouts			
Line #	Qty Tags	Item			Total
_	Qty rags				
026	1	AMPTPL144.FSC.P.P	Sell Price	\$926.28	\$926.28
		STRUCTURE LAMINATE HALLOW PANEL BASE FOR 144	Discount	64 00%	

Line #	Qty Tags	Item			Total
026	1	AMPTPL144.FSC.P.P	Sell Price	\$926.28	\$926.28
		STRUCTURE LAMINATE HALLOW PANEL BASE FOR 144 WIDE	Discount	64.00%	
			List Price	\$2,573.00	\$2,573.00
	WOOD:	FSC Mix Credit			
	LAMINATE:	L1 Core Lam Opts			
	LAMINATE_Selection:	Black			
	LAMINATE2:	Black			

Line	# Qty	Tags	Item			Total
02	7 16		AW2TLPCB72.P7D.B	Sell Price	\$253.08	\$4,049.28
			30-36D FIXD T-LEGKIT	Discount	64.00%	
				List Price	\$703.00	\$11,248.00
		PAINT:	P1 Paint Opts			
		PAINT_Selection:	CLR: Brownstone			
		CASTER:	Caster: Black			

Line #	Qty Tags		Item			Total
028	6		CS724.P7D	Sell Price	\$56.55	\$339.30
			HALF HGT 14HX72W MOD PNL	Discount	71.00%	
				List Price	\$195.00	\$1,170.00
		PAINT:	P1 Paint Opts			
	PAINT	_Selection:	Brownstone			

Line #	Qty	Tags	Item			Total
029	24		PF197-233A.P7D.EL.OMT	Sell Price	\$233.74	\$5,609.76
			ESSENTIALS SUPPORT PED BBF 28HX22-7/8DX15W	Discount	71.00%	
			ARCH PULL			
				List Price	\$806.00	\$19,344.00
		PAINT:	P1 Paint Opts			
		PAINT_Selection:	Brownstone			
		PULL:	PULL: Matte Silver			
		LOCK:	omt Core to Ord key Alike			

Line #	Qty Tags	Item			Total
030	18	PF198-232A.P7D.EL.OMT	Sell Price	\$233.74	\$4,207.32
		ESSENTIALS SUPPORT PED FF 28HX22-7/8DX15W ARCH	Discount	71.00%	
		PULL			
			List Price	\$806.00	\$14,508.00
	PAINT:	P1 Paint Opts			
	PAINT_Selection:	Brownstone			
	PULL:	PULL: Matte Silver			
	LOCK:	omt Core to Ord key Alike			

Line #	Qty Tags	Item	Total

 Quote SQCWC000345\_1
 Print Date: 8/18/2021
 Page 5 of 7

		ALBANY, NY 12204-1513			
031	18	A871242A.P	Sell Price	\$76.85	\$1,383.30
		POWER HARNESS 42W 3 CIRCUIT	Discount	71.00%	
			List Price	\$265.00	\$4,770.00
	BLACK 1:	CLR: Black			
Line #	Qty Tags	Item			Total
032	18	A871248A.P	Sell Price	\$76.85	\$1,383.30
032	10	POWER HARNESS 48W 3 CIRCUIT	Discount	71.00%	γ1,303.30
			List Price	\$265.00	\$4,770.00
	BLACK 1:	CLR: Black		•	. ,
Line #	Qty Tags	Item			Tota
033	18	A871501A.EY	Sell Price	\$13.34	\$240.12
033	10	DUPLEX RECEPTACLE CIRCUIT 1 3-3-2 SYSTEM	Discount	71.00%	<b>7240.12</b>
		DOTELN RECEITABLE CIRCOTT I 3323TEW	List Price	\$46.00	\$828.00
	PAINT:	CLR: Brownstone	LIST I TICC	у <del>ч</del> 0.00	7020.00
	TAINT	CER. BIOWISCORE			
Line #	Qty Tags	Item			Total
034	18	A871503A.EY	Sell Price	\$13.34	\$240.12
		DUPLEX RECEPTACLE CIRCUIT 3 3-3-2 SYSTEM	Discount	71.00%	
			List Price	\$46.00	\$828.00
	PAINT:	CLR: Brownstone			
Line #	Qty Tags	Item			Total
035	9	A879072A.P	Sell Price	\$81.20	\$730.80
	-	BASE POWER IN-FEED CABLE 3-3-2 SYSTEM	Discount	71.00%	********
			List Price	\$280.00	\$2,520.00
	BLACK 1:	CLR: Black		·	
Line #	Otre Tage	Item			Total
036	Qty Tags	LKFE1SLV.SEQ/125.6	Sell Price	\$34.80	\$34.80
030	1	LOCK CORE KIT SILVER - 1 CORE 2 KEYS	Discount	71.00%	<b>334.80</b>
		LOCK CONE KIT SIEVEN - I CONE 2 KETS	List Price	\$120.00	\$120.00
	KEY NUMBER:	Key Number	LIST I TICC	<b>Ϋ120.00</b>	Ģ120.00
	KEY NUMBER_Selection:	Key Number Sequence StartKey Number 125			
	QTY:	Quantity: 6			
		·			
Line #	Qty Tags	Item	6.115	6202.00	Total
037	1	LKFE2SLV.SEQ/133.18	Sell Price	\$208.80	\$208.80
		LOCK CORE KIT SILVER - 2 CORES 2 KEYS	Discount	71.00%	6722.00
			List Price	\$720.00	\$720.00
	KEY NUMBER:	Key Number			
	KEY NUMBER_Selection:	Key Number Sequence StartKey Number 133			
	QTY:	Quantity: 18			
Line #	Qty Tags	Item			Total
038	18	A871503A.EY	Sell Price	\$13.34	\$240.12
		DUPLEX RECEPTACLE CIRCUIT 3 3-3-2 SYSTEM	Discount	71.00%	
			List Price	\$46.00	\$828.00
	PAINT:	CLR: Brownstone			
			Total	Sell Price:	\$113,668.12
					+,000. <b>1</b>

Quote SQCWC000345\_1 Print Date: 8/18/2021 Page 6 of 7

**Submitted By:** 

DAVIES OFFICE REFURBISHING INC	
40 LOUDONVILLE RD	
ALBANY, NY 12204-1513	

Accepted By:	
Date:	

 Quote SQCWC000345\_1
 Print Date: 8/18/2021
 Page 7 of 7